Name:

/4 . s\ Multi Variables: 54
- ( Multiple Choice )
Part-A
1) Which of the following satisfies (2p - 1)(q + 3r) = 77
i) p=4,q9=1,r=-2 ii)p=3,g=-2,r=1 iii)p=1,g=-1,r=2 iv) p=4,q=-2,r=1
2)  Which of the following satisfies u® + v> + 2u’v + 8 < 18?
hu=3,v=2 e — R ivyiu=3,v=3
3)  Which of the follov PRE V IEW
)a=-2,b=2,c= ivia=-20,b=5,c=1
Gain complete access to the largest
4)  Which of the follovjcollection of worksheets in all subjects!
i) x=2,y=-3 iv) x=1,y=-2
1) Which of the follov
) a+ b*-3c<6 www.mathworksheets4kids.com iv) c+b’+as<6
2)  Which of the following inequality is true at m=3 and n =4?
.~ Nn°-3m .. n+3m ... -Nn+13 .. m>-3n
i) 3 >10 ii) 3 <10 iii) 3 >10 iv) 3 >10
3)  Which of the following inequality istrueatp=1,q=-2and r=5?
) rqg-p)<-15 i) pg(p+3r)>-15 iii) pgRg+r)=-15 iv) (p-qg)(q+r <15
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